
Subject: isn't this a bug in RSTRPOS?
Posted by Russ Welti (on mapper on Mon, 05 Jan 1998 08:00:00 GMT
View Forum Message <> Reply to Message

IDL> s=["hi","hit","hitter","h"]
IDL> print,strpos(s,"t")
      -1       2       2      -1
IDL> print,rstrpos(s,"t")
% Compiled module: RSTRPOS.
% Compiled module: REVERSE.
% Expression must be a scalar in this context: <BYTE      Array(4)>.
% Execution halted at:  RSTRPOS            57 /opt/rsi/idl_4/lib/rstrpos.pro
%                       $MAIN$                 

What gives?
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